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class Solution A{
public:
vector<int> dailyTemperatures(vector<int>& temperatures) {

/] EfEREAERR
int N = temperatures.size();
vector<int> result;
for (int i = 0; i < N; i+) {
int B = 0;
/| EEREB/LNMEE
for (int j = 1i; j < N; j+) {
if (temperatures[j] < temperatures[i]) {
B++;
I
elseq
break;
I
if(j=N-1){
B=0;

}
result.push_back(B);

}.

return result;
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class Solution {
public:
vector<int> dailyTemperatures(vector<int>& temperatures) {
/] REEERIKE
int N = temperatures.size();
/] ERREIEERE, Wliat/e0
vector<int> result(N, 0);
[l BXt%, BTFEERER TR

stack<int> temperatures_zhan;



for (int i = 0; i < N; i+) {
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int t = temperatures[i];
/] BEANTEISEEEATIRINEERN, SIREIUTE
while (!temperatures_zhan.empty() 8&
t > temperatures[temperatures_zhan.top()]) {
int prevIndex = temperatures_zhan.top(); // FFEUE

temperatures_zhan.pop(); // BEHERTE
result[previndex] = i - prevIndex; // itES5%EIX

}
/] BREBCRERNREAT R

temperatures_zhan.push(i);

return result; // IREIEEEREAE



